K1 EXRPHEHNERAB(AALLOERT)

(IR) 1 48T
PE ¥ h 4y HA CBT) AR KT
DT | EERET | LRy ST =T
£ 4 297 29 12 47 23 408
09 & £t i 53 5 1 7 - 66
10 BB - Ak} 4 4 2 2 3 15
11 ik HE 24 1 1 1 2 29
12 K M 2 3 - 6 1 12
13 % H 12 - 1 12 3 28
14 /L7« i 6 1 - 2 2 11
15 Hl Jil 34 - 1 2 - 37
16 1k 5 7 - - - - 7
17 - AR 1 - - - - 1
18 F5AFv” 12 - 2 1 3 18
19 = I 12 1 - - 1 14
20 72 9 L & 2 - - - - 2
21 ZB%¥-t A 15 1 1 2 - 19
22 &% i ] 5 - - - - 5
23 Bk &R 3 1 - - - 4
24 & = 32 3 2 5 2 44
25 13 A AR 7 - - - - 7
26 A= FA B 37 4 1 2 5 49
27 W FAR 2 - - - - 2
28 WA+ TF AR - - - 1 - 1
29 B K 8 - - - - 8
30 5 1S - - - - - -
31 W % A Bk 2 4 - 1 1 8
32 % O b 17 1 - 3 - 21
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K2 ERPHBEHNEREH(AANLLOERT)

(R4 )
(IR) 1 48T
FE ¥ h 4y M CBT) AR KT
DT | EERET | LRy ST =T

£ 4 8,734 1,509 453 726 289 11,711
09 & £t i 1,454 40 60 124 - 1,678
10 BB} - fil ket 140 78 20 38 46 322
11 ik HE 699 122 6 8 14 849
12 K M 27 22 - 65 4 118
13 % H 167 - 4 238 28 437
14 7SV & 100 62 - 47 17 226
15 Hl Jil 547 - 15 16 - 578
16 1k 5 357 - - - - 357
17 - AR 13 - - - - 13
18 F5AFv” 264 - 45 7 25 341
19 = I 2,251 24 - - 10 2,285
20 72 9 L & 27 - - - - 27
21 ZB%¥-t A 181 18 21 31 - 251
22§k 2] 119 - - - - 119
23 )R 248 16 - - - 264
24 & o 761 35 50 76 25 947
25 13 A AR 129 - - - - 129
26 A= FA B 810 366 232 30 71 1,509
27 W5 FIHEM 35 - - - - 35
28 BT+ T AR - - - 9 - 9
29 &M PR 226 - - - - 226
30 5 1S - - - - - -
31 2k B bR 42 720 - 24 49 835
32 % O b 137 6 - 13 - 156
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£3 EXDPHENRERHFTEF (4 AL LOERRT)

(A7 5 1)
(IR) 1 48T
PE ¥ h 4y HA CBT) AR KT
DT | EERET | LRy ST =T

£ ¥ | 20,969,178 6,529,642 834,011 1,030,223 346,293 29,709,347
09 & £t i 2,705,856 X X 127,990 - 3,060,864
10 BB - Ak} 1,210,010 149,680 X X 59,195 1,496,442
11 ik e 632,122 X X X X 715,336
12 K M X 17,438 - 183,357 X 211,418
13 % H 216,221 - X 389,191 X 630,303
14 7L 7 & 178,750 X - X X 316,403
15 F Jill 810,124 - X X - 838,918
16 1k 5 3,735,472 - - - 3,735,472
17 - AR X - - - - X
18 F5AFv” 546,065 - X X 32,773 744,444
19 = I 6,595,557 X - - X 6,621,357
20 72 L H X - - - - X
21 ZB%¥-t A 444,575 X X X - 569,530
22 i 253,701 - - - - 253,701
23 &R X X - - - 588,184
24 & = 1,204,718 38,250 X 101,690 X 1,636,543
25 13 A AR 211,653 - - - - 211,653
26 A= FA B 1,571,055 627,844 X X 100,913 2,639,489
27 W5 FIHEM X - - - - X
28 BT T AR - - - X - X
29 &M PR 348,956 - - - - 348,956
30 5 1S - - - - - -
31 @ 2 B bk X 4,760,545 - X 4,875,566
32 % O 139,150 X - - 148,854
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®4 EFRPSEA M ESE (4 AL EDEFE)

(IR) 1T4RT
PEZE T oy M CBr) R KT
SN FH = ALHT AL B HT W T —YEET
£ 4 9,330,077 2,338,468 340,806 432,944 216,190 12,658,485
09 & £t i 940,542 X X 59,390 - 1,161,550
10 BB - Ak} 67,358 64,126 X X 37,232 212,199
11 ik e 314,711 X X X X 362,258
12 K M X 6,310 - 45,919 X 64,565
13 % H 82,749 - X 151,134 X 245,098
14 /L7« i 62,460 X - X X 115,603
15 F Jill 389,525 - X X - 402,785
16 fk 5 2,961,400 - - - - 2,961,400
17 - AR X - - - - X
18 FIAF v/ 171,729 - X X 20,636 257,859
19 = U 2,017,006 X - - X 2,029,144
20 72 9 L & X - - - - X
21 ZB%¥-t A 211,738 X X X - 286,057
22 % 2] 90,232 - - - - 90,232
23 )R X X - - - 100,425
24 4 = 782,893 8,598 X 47,463 X 986,068
25 13 A AR 83,585 - - - - 83,585
26 A= FA B 760,370 334,878 X X 72,924 1,277,323
27 W FAR X - - - - X
28 WA+ TF AR - - - X - X
29 &M PR 190,378 - - - - 190,378
30 1 IS ek - - - - - -
31 W % A Bk X 1,673,515 - X X 1,724,687
32 % O h 72,591 X - X - 75,283
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